
1. Install the Mounting Arm oriented as shown using the 
provided hardware. Gasket must be placed between the 
Mounting Arm and the casting to preserve IP rating. 
Tighten hardware to 12 ft-lbs (144 in-lbs).

2. Install the Mounting Bracket using existing holes. The 
mounting holes and slots in the Mounting Bracket are 
designed for ½” hardware. Tighten hardware to 12 ft-lbs
(144 in-lbs).

3. Slide fixture with the Mounting Arm  attached down on 
to the Mounting Bracket , so that the cutout on the 
Mounting Arm aligns with the Mounting Bracket. The top 
surfaces of both pieces should be nearly flush.

4. Secure the two halves of the Mounting Bracket  fully 
seating the #10-24 socket head cap screws. Tighten 
hardware to 4 ft-lbs (50 in-lbs). 

5. Complete all wiring according to local and federal 
standards/regulations . Install cover for Mounting Bracket  
using the provided #8-32 screws.

Area Light -
UPMB Install Instructions Area Light UPMB Kit Installation

(Upright  Pole Mounting Bracket)

1

2

3

4

5

UPMB

WARNING – RISK OF FIRE OR ELECTRIC SHOCK.  

INSTALLATION REQUIRES KNOWLEDGE OF LUMINAIRES 

ELECTRICAL SYSTEMS. IF NOT QUALIFIED, DO NOT 

ATTEMPT INSTALLATION. CONTACT A QUALIFIED 

ELECTRICIAN.

WARNING – RISK OF FIRE OR ELECTRIC SHOCK. BE 

CERTAIN ELECTRICAL POWER IS OFF BEFORE AND 

DURING INSTALLATION OR MAINTENANCE.

WARNING – RISK OF FIRE OR ELECTRIC SHOCK. 

LUMINAIRE MUST BE CONNECTED TO A WIRING 

SYSTEM WITH EQUIPMENT-GROUNDING 

CONNECTOR.

WARNING – RISK OF PERSONAL INJURY DUE TO 

IMPROPERLY INSTALLED FIXTURE. INSTALL THE 

LUMINAIRE WITH RECOMMENDED TOOLS AND USE 

ONLY MATERIAL AND/OR PARTS PROVIDED.

WARNING: 

Tools required:

AL Mounting

Arm Gasket

Parts included in this kit:

UPMB Installer Notes:

1) Pole must be installed in final upright

position before installing UPMB bracket

and fixture.

1/2” SS Flat Washer (x4)

1/2” -13 Nylon Locknut (x2)

1/2” -13 x 1 ½” Hex Bolt SS (x2)

3/8” Split Washer SS (x2)

3/8”-16 Hex Nut (x2)

3/8”-16 x 1” Hex Flange Bin PE Washer

(x2)

UPMB Bracket 

Assembly

UPMB Bracket     

Cover Assembly

Torque 

Wrench

Philips #2

Screwdriver

9/16”  Socket 

3/4”    Socket
5/32 Hex 

Driver Bit


